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Unit Il — First Degree Relations with One Placeholder
Part A — Basic Equations and Inequalities
Lesson 2 — First Type - Making Zeros (page 1)

Find the solution set for each of the following open sentences and show it using set notation if
possible,or anumber line, if necessary.
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0. “7+c>7  S={ } ( )
nox-32=7% = ) 4 )
12, y——>% S={ } ( | )
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14, p-53-122 s= ) Xt )
15 viosl o s= ) 4 )
16, x+8< 10  S={ ) <4 >
17. t-45-65 S={ ) < >
I )
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Find the solution set for each of the following open sentences and show it using set notation if
possible,or anumber line, if necessary.

40.2
1. S={a|a=402} <€+—+t++T++1T+T+++1+>
-60 -50 -40 3020 -10 O 10 20 30 40 50 60

23
|
2. S:{x|x:23} 1+ttt
-60 -50 -40 -30-20 -10 O 10 20 30 40 50 60

3 S={n| 5} Ot

12-10-8 64 20 2 4 6 8 10 12

4 S={y|yp3) O ————

]
I
-12-10 -8 6 -4 -2 O 2 4 6 8 10 12

730
5. S={—30} Tttt
-60 -50 -40 -30-20 -10 0 10 20 30 40 50 60

6. S={p|p>5) €ttt Om———————

-12-10 -8 6 -4 -2 O 2 4 6 8 10 12

7. S={13.7} ~———

19

9. S={ala<8} e —— >

12-10-8 64 20 2 4 6 8 10 12
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10, S={c[C>14} € i
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1. s={% - e
4 12108 64 20 2 4 6 8 10 12
- &
12. S={y|y>—=} <ttt O ————
12 12-10 -8 6 4 -2 2 4 6 8 10 12
11 %
13. S={r|r2=} Attt o————
12 12108 64 20 2 4 6 8 10 12
17
14, s={ ~————— >
10 30 -25-20-15-10 5 O 5 10 15 20 25 30
. 1
15. S={v|vs=} - —————— >
2 12-10-8 64 20 2 4 6 8 10 12

16. S={x|x<"18} ~e—————

|
I
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17. S={11} -—t+—t—t+—t+—t+—t+t+—t+t+t+t+to+=>
1210 8 64 20 2 4 6 8 10 12
2
18, s={2 -—t 5
2 12108 64 20 2 4 6 8 10 12
71
_71 | | | | Iﬂl | | | | | | |
19. S:{Z} T T TTT1 |)
12108 64 20 2 4 6 8 10 12
2
2 R | | | | | |
20. S={X|X<—} < ——t iy
15 12108 64 20 2 4 6 8 10 12





